Prénom : ________________

Date : _________


Test des connaissances – calcul mental (corrigé)
	calcul
	réponse
	calcul
	réponse

	41,06 + 2,3
	43,36
	45,77+ 37,6
	83,37

	1,75 + 1,29
	3,04
	86,15 – 3,65
	82,5

	6 x 7
	42
	256 :20
	12,8

	450-430,11
	19,89
	79,75 – 38
	41,75

	96 : 4
	24
	25,6 : 4
	6,4

	100 : 8
	12,5
	32 x 25
	800

	65,4 : 1000
	0,0654
	92000 – 17
	91983

	8 x 500
	4000
	575 : 25
	23

	86,7 +3,04
	89,74
	28,8 x 50
	1440

	43,23 – 20,1
	23,13
	1,8 - … = 1,792
	0,008

	848 x 2,5
	2120
	9997 + 86
	10083

	54 x 0,1
	5,4
	814 – 377 
	437

	298 + 457
	755
	30 x 31
	930

	46 x 9,9
	455,4
	56,3 x 1000
	56300

	753 – 189
	564
	70000 – 17400
	52600

	75 x 999
	74925
	3,7 + 190,45
	194,15

	45689 : 100
	456,89
	760 : 5
	152

	0,25 x 6480
	1620
	47 x 9
	423

	689 + 756
	1445
	543 – 173
	370

	9 x 9
	81
	13,2 – 6,6
	6,6

	1020 – 780 
	240
	… : 2 =139,5
	279

	98 x 50
	4900
	0,56 x … =560
	1000

	7000 : 40 
	175
	51,2 – 15,3
	35,9

	437 + 286
	723
	4500 – 780
	3720

	329,2 + 146,3
	475,5
	87642 - 16000
	71642


Test des connaissances – calcul mental (corrigé)

	calcul
	réponse
	calcul
	réponse

	41,06 + 2,3
	
	45,77+ 37,6
	

	1,75 + 1,29
	
	86,15 – 3,65
	

	6 x 7
	
	256 :20
	

	450-430,11
	
	79,75 – 38
	

	96 : 4
	
	25,6 : 4
	

	100 : 8
	
	32 x 25
	

	65,4 : 1000
	
	92000 – 17
	

	8 x 500
	
	575 : 25
	

	86,7 +3,04
	
	28,8 x 50
	

	43,23 – 20,1
	
	1,8 - … = 1,792
	

	848 x 2,5
	
	9997 + 86
	

	54 x 0,1
	
	814 – 377 
	

	298 + 457
	
	30 x 31
	

	46 x 9,9
	
	56,3 x 1000
	

	753 – 189
	
	70000 – 17400
	

	75 x 999
	
	3,7 + 190,45
	

	45689 : 100
	
	760 : 5
	

	0,25 x 6480
	
	47 x 9
	

	689 + 756
	
	543 – 173
	

	9 x 9
	
	13,2 – 6,6
	

	1020 – 780 
	
	… : 2 =139,5
	

	98 x 50
	
	0,56 x … =560
	

	7000 : 40 
	
	51,2 – 15,3
	

	437 + 286
	
	4500 – 780
	

	329,2 + 146,3
	
	87642 - 16000
	


